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Experiment: 1

To find out the root of the
Algebraic and Transcendental
equations using Bisection

method

Scilab code Solution 1.1 Bisection Method

//Operating System — Windows 10

//SCILAB version 5.5.2

//Experiment No.l

//Objective —Root of algebraic
equations using bisection

//for example for solution of

//ax"44+bx"3+cx "2+dx+e=0

//For Example Enter the value
the polynomial as

//a=1

//b=0

/] c=0

/)d=1

//e=—10

//Enter the range p and q for

5

and transcendental
given equation

of a,b,c,d and e for

checking the function
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//p= 1.8
//a= 1.9

//such that f(p

//then x=(a+b)/

//the graph will be plotted

clc

clear

disp (" Enter value of a,b,c,d,e ax 4+bx " 3+cx " 2+dx+e=0
7)

a=input (" Enter a: 7);

b=input (" Enter b: 7);

c=input (" Enter c: 7);

d=input (" Enter d: 7);

e=input (" Enter e: 7);

function y=fun(x)
y=a*x. 4+b*x. 3+cxx. 2+d*x+te;

endfunction

//deff[” fun(int x)=(axx"4)+(bxx"3)+(cxx"2)+(dxx)+e”,

)
2

18

positive and f(q) negative

x];
p=input (" Enter 1st approximation :
g=input (" Enter 2nd approximation: 7);

while (fun(p)*fun(q) >0)
disp (" Enter correct range of approximations”);
p=input (" Enter 1st initial approximation: 7);

36
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47
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g=input (" Enter 2nd initial approximation:

end

pl=[p:.1:q]
x=(p+q)/2;

i=0;

z=0;

while (abs(fun(x)) >0.0000001)

x=(p+q)/2;

if (fun(x)*fun(q)<0) then

p=Xx;
else
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| I scilab 5.5.2 Console.

- o x
LFile gdit Control Applications ?
3 5
ZBE|XG0OvIE B =X 80
Fil Erawser x Variable Browser z 2 x
~ Name Value Type visbity
o = Enter value of a,b,c,d,e ax’4+bx"3tox"2+dxse=0 B o Doubie loca
Enter a: 1 i 19 Doubie loca
£ Documents - 0 x 168 Double loca
g 0 p1 i, 3] Doubie oca
E iﬂ dlsbwtmns 1 a 186 Double loca
vduno
Bsoae o . o
Enter 1st initial tion: 1.8
{55 Bluetooth Exchange Folder nter 1sc initial approximation: 5 = v =
1B Cocemasters Encer 2nd inicial approximation: 1.9 5 3 Double o
{5 Crerion Games £(1.850000)=-0.136494 b d Doube o
{5 custon Offce Templates £(1.875000)=0. 484619 = 1 Doubie loca
Drra £(1.862500)=0.170811
EIF::'i 15 £(1.856250)=0.016351
Bricms Pt
& cames £(1.854688)=-0.022011
{55 NS Most Wanted £(1.855469
NESTR £(1.855889 =
{5 Rockstar Games £(1.855668 L G
Dsdizb £(1.855566 "
1
{5 50t server Management studo (1855615 3
Ez‘m:zzj‘“ e £(1.855591 !
isual Studo
{5 Visual studio 2010 f(.sese7e f
WB Games £(2.855589 o
Aot £(1.855582 1
] ajava £(1.855583 2
7] .dase f(1.e55588 !
[ Csss £(1.es55e 4
{7] condusionscral.doox £(1.855585 -10
] dotabasee = Solution of equation is 1.855585 !
{] databasee.mdb . 2
et !
B0 5100 hd %
0
] Case sensitive. [] Reguiar expresson ! N

Figure 1.1: Bisection Method

mprintf ("%d: —\ tf (%f)=%f\n’,i,x,fun(x))

end

mprintf (" Solution of equation

plot(pl,fun(pl))

is Jf”,

x)




Graphic window number 0 - X
FEile Tools Edit 2
B8 G(T VO

Graphic windaw number 0 B

T T T T T T T T T T T T
18 1805 181 1815 182 1828 183 1838 184 1845 185 1855 188 1885 167 1875 183 1885 188 1895 19

Figure 1.2: Bisection Method
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Experiment: 2

To find out the root of the
Algebraic and Transcendental

equations using Regula-falsi
method

Scilab code Solution 2.2 REGULA FALSI

//Operating System — Windows 10

//SCILAB version 5.5.2

//Experiment No.2

//Objective ~Root of algebraic and transcendental
equations using Regula—falsi

//for example for solution of given equation

//ax"44+bx"3+cx "2+dx+e=0

//For Example Enter the value of a,b,c,d and e for
the polynomial as

//a=1

//b=0



I scilab 5.5.2 Console
File Edit Control Applications

EI-TEYETE]]

8@ @

File Broveser

Variable Browser

Name
|E= Documents

{5 2015011006
Archino
5 sioware
{55 Bluetooth Exchange Folder
{5 Codemasters
{5 Criterion Games
Custom Offce Templates
2

{55 Ghost Games

hy

By Games

{51 Most wanted
NFSTR

{5 Rocistar Games
Bsaiab
{5 501 Server Management studo
{55 visual Studio 2005
{55 Visual studio 2008
{5 visual studio 2010
WB Games

Audlass

1] condusionscroll.docx
{7 databasee.acedb
1] databasee.mdb

{7 hte.tet
m

>

[ Case sensitive. []Regular expression

Enter value of a,b,G,d,e ax*4+bx"3+ox"2+dx+e=0
Encer a:

1

£(1.838531)=-0.412799

£(1.853636)
£(1.855363)
£(1.855559)=
£(1.855582)
£(1.855584)
£(1.855584)=.
£(1.855585)
£(1.855585)

Soluction of equation is 1.855585

Name

Value

Type

Visbilty

Cammand History

B Grophic window number0
File Tools £t 2
=R

Graphic wineow rumber 0

Figure 2.1: REGULA FALSI

18

a7

Figure 2.2: REGULA FALSI
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//c=0
//d=1
//e=—10

//Enter the range p and q for checking the function

//p=1
//a=2

//such that f(p

//then x=(a+b)/

//the graph will be plotted

clc
clear

disp (" Enter value of a,b,c,d,e ax 4+bx " 3+cx " 2+dx+e=0

7)
a=input (" Enter
b=input (" Enter
c=input (" Enter
d=input (" Enter
e=input (" Enter

function y=fun(x)
y=a*x. 4+bxx . 3+c*x. 2+d*x+e;

endfunction

//deff[” fun(int x)=(axx"4)+(bxx"3)+(cxx"2)+(d*x)+e”,

X]i

)
2

e:

a0 T

1s

")
75
75
")
")

p=input (" Enter 1st
q=input (" Enter 2nd
while (fun(p)*fun(q) >0)

disp (" Enter

correct

p=input (" Enter 1st
g=input (" Enter 2nd

end
pl=[p:.1:q]

x=(p*fun(q) -gq*fun(p))/(fun(q)-fun(p));

i=0;

while (abs (fun(x))>.0000001)
x=(p*fun(q)-q*fun(p))/(fun(q)-fun(p));
if (fun(x)*fun(q)<0) then

p=Xx;
else

positive and f(q) negative

approximation:
approximation:

range of approximations”);
approximation:
approximation :
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q=x;
end
i=i+1;

mprintf ("%d:—\tf (%f)=%f\n",i,x,fun(x))

end

mprintf (’Solution of equation

plot(pl,fun(pl))

18
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Experiment: 3

To find out the root of the
Algebraic and Transcendental
equations using Newton
Raphson

Scilab code Solution 3.3 NewtonRaphson

//Operating System — Windows 10

//SCILAB version 5.5.2

//Experiment No.3

//Objective ~Root of algebraic and transcendental
equations using Newton Raphson

//for example for solution of given equation

//ax"44+bx"3+cx "2+dx+e=0

//Enter the value of a,b,c,d and e for the
polynomial as

//a= 1

//b=1

13
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I scilab 5.5.2 Console.
File Edit Control Applications 2

ZB|XA00|% &8 @ &0

[ Case sensitve (] Reguiar expression

Fil Erawser 2 x Variable Browser 2 x
~[ e Name Value Type Visbilty
= Enter value of a,b,c,d,= ax*4+bx"3tox"2+dxe=0 b i Doube s
Name
L“—J =] 13 Doubie foca
& Documents 2] By 2| Doubie o
S . =3 183 Doubie foca
Eiﬂd‘”‘“ms e 1 Doubie oca
vduno =
Bl fnter ar 1 G 4 Doubie oca
{55 Bluetooth Exchange Fod Encer 1st initial approximation: -2 &e 9 Doute locs
lustooth Exchange Folder B T = 1 Doubie oca
{5 Codemasters 1:m £(-2.000000)=1.000000 e h e -
{55 Crterion Gam - £(-1.964286)=0.451211
{5 custon Offce Templates i £(-1.947140)=0.203504
Srraz 42— £(-1.939168)=0.091738
Brenss R e b
Soeone e b
By cames - .008383
{55 NS Most Wanted - -003781
Besm i~ £(-1.952633)-0.00170% =
{5 Rodkstar Gam 10 £(-1.932565)=0. 000767 S
Bsdab 11 £(-1.932534)=0. 000346 v "
{55 5QL Server Management Studio 1 £(-1.932520)=0.000156 2
Ez‘sua:zzj‘“ ot 13:-  £(-1.932514)=0.000070 1
isual Studo : -1.932511)= 2 :
5 Vo 2o 10 a2 £(-1.932513) 0. 00003 ?
WE Games 15:-  £(-1.932510)=0.000014 0
Acass 16:-  £(-1.932802)=0.000006 1
[ ajava 17:- £(~1.932509)=0.000003 2
B.cles 15 £(-1.932508)=0.000001 H
{1 c.ses Solucion of equation is -1.932509 =1
{7] condusionscral.doox s -10
{1 databasee.accdb 1
{] databasee.mdb 2
] hteat 1
Bl G015 100nsA00 11 9 )
hd )
1

//e= 0
//d= 4
//e=1
//Enter the

//x=-2

//such that f(p) is

Figure 3.1: NewtonRaphson

first approximation as

//then x=(a+b) /2

clc
clear

disp (" Enter value of a,b,c,d,e ax 4+bx " 3+cx " 2+dx+e=0

”)
c=input (" Enter
d=input (" Enter
e=input (" Enter
f=input (" Enter
g=input (" Enter

a: 7);
bl 77);
c: "),
d: ")
e: "),

function y=fun(x)

y=c*x. 4+d*xx . " 3+ex*xx. 2+f*xx+g;

endfunction

J/deff[” fun(int x)=(axx"4)+(bxx"3)+(cxx"2)+(dxx)+e”,

positive and f(q)

18

negative



|| E Graphic window number 0
File Tools Edit ?
BNRA TV @

Graphic window number 0

w

0.5+

0.5+

-2.5

Figure 3.2: NewtonRaphson
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x=input (" Enter 1st initial approximation: ”7);
y=X;
i=0;
while (abs (fun(x))>.000001)
i=1+1;
mprintf ("%d:—\tf (%f)=%f\n",1i,x,fun(x))
x=x-(fun(x)/numderivative (fun,x)) ;
end
if (y<x) then
p=Lly:.1:x+1]
else
p=[x:.1:y+1]
end
mprintf (" Solution of equation is %f”,x)
plot(p,fun(p),p,p*0)

16
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Experiment: 4

To find out the root of the
Algebraic and Transcendental
equations using Method of
Iteration.

Scilab code Solution 4.4 ITERATION

//Operating System — Windows 10
//SCILAB version 5.5.2
//Experiment No.4
//Objective: Root of algebraic and transcendental
equations using iteration
//for example for solution of given equation
//x"3—5x+1=0
//Enter the initial approximation x=1
//then x=g(x)
clc
clear
function y=f(x)
y=x"3-5*x+1

17
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B scilsb 55.2 Console

- x
File Edit Control Applications 2
ZE|XD0|v &8 2@
Fie Brawser 22 x Varisble Browser 2ax
C:\users\Abhishek\Documents\ v[ & Name Ve Trpe visbilty
= Enter initial i 0.202] Doubke| local|
e £ (0.000000)=1. 000000 = fis Sting local
£ pocuments ~|l£(0.200000)=0. 008000 =yl [t il String| local
> ihs 1 Doubl| Tocal
{3 201sbitio0s rhs 1 Double| ocal
Arduino ms; x in local
Dot o.20u8 i i
Bluetooth Exchange Folder [£ (0-201600)=0. 000134 d Daube focal
{5 Codenasters g Double ocal
{5 Crterion Games o [currenty i String ol
{55 custom office Tempiates 0.2016387 2| [fmt 5 Sting
a2 I£ (0.201639)=0.000005 ihs 1 Double] oaal
D hs 1 Doub Tocal
BFFass i imsg i Sting Tocal
Ghost Games ouble,
En 0.2016327 : e —
N A ouble| ocal
{5y Games [folucion is 0.201640 A :n‘ Doubie Tocal v
{5 s Most Wanted Execusion done.
B Command History zax

{55 Rockstar Games gs "

B sdiab o
{5501 Server Management Studo 1
{5 visuat studio 2005 o
{5 visual studo 2008 -

{5 viusl studo 1010 de
0
1
0

4
1
0
1
0

)
v 1

-2

hid 3

de

0 v

endfunction

Figure 4.1: ITERATION

function y=fi(x)

y=(x"3+1) /5

endfunction
a=input (" Enter

a=fi(a);

initial

approximation

mprintf (" f(%f)=%f\n" ,a,f(a))

while (abs(f(a))>.000001)

mprintf (" {(%f)=%f\n" ,a,f(a))

a=fi(a)
end

mprintf (" Solution

is %7 ,a)

n),
I

© ) &

18
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Experiment: 5

To implement Newton’s
Forward and Backward
difference table.

Scilab code Solution 5.5 NewtonFwdAndBckwd

//Operating System — Windows 10

//SCILAB version 5.5.2

//Experiment No.5

//objective: newton’s forward difference
interpolation table and newton’s backward
interpolation table

© 0o 1 O Ot

10

//for example for forward difference select 1
//enter number of values 5

//matrix is formed of 5x%5

//enter the value of x and y simultanously
//Enter the element x: 1

//Enter the element y: 6

//Enter the element x: 2

19



B scilab 55.2 Console.

- x
File Edit Control Applications 2
ZBEXCOv GBS X &@
File Browser 22 Varisble Browser zax
Co\Jsers\Abhishek\Documents\ [ e & Name Value Type visbilty
press 1 for forward difference table and 2 for backvard difference tablel
=~ & 1 Doubie| local| o
Name lenter the no of values 5 b ER Daube focal
| Documents Allv = i s Daube Tocal
v 55 Doube focal
5 20151005 o. o. n s Dauble Tocal
{5 Arcing 0. 0. ich 1 Double| local
5 Boware o o & ™1 Sting Tocal
{5 Bluetooth Exchange Folder . N o] [t 51 Sting local
Codemasters . . Ihs 1 Daube local
{55 Criterion Games . - rhs 1] Double| ocal|
{5 custom office Templates Encer the =i msa s Sting local
DFFa Encer the A 0 Dauble Tocal
EaFras Enter the d 1 Double| ocal
B s Encer the 3 o Doubie Tocal
{5 chost Games lEncer the o] [crrentprompt oS! Stin local
hy lEncer the o] [t i, Sting local
- {5 My Games ihs 1 Daube Tocal| v
{5 s Most wanted [Enter che
B lEncer the Command History 2ax
) Rockstar Games [Encer the o ~
B sdab Enter the H
{5501 Server Management studo v = )
{5 Visual Studo 2005 1
E yaisudo 203 .. s 0. 0. 0. 2
Visual Studo 20 10 -
o 1. 0. 0. 0. 0. et
[ e T T N s
D asma 25, 0. 0. 0. o. :
1T Buclas se. 0. 0. 0. 0. :
] Codass v s
{7] condusionscrol.docx -2
{ ] databasee.accdb 6. 5. 0. 0. 0. 1
{] databasee.mdp . 1. s o 0. o 5
7. 0. 0. 0. 0. 4
v . o o o o z
[ Case sensitve [ Regular expression 34. 0. 0. 0. 0. . ; .

B et 552 Console

Figure 5.1: NewtonFwdAndBckwd

- X
File Edit Control Applications 2
ZE X000 58 @ X @
Fil Browser 22 x Varisble Browser 2ax
C:\UsersiabhishekiDocuments\ V[ # 6. 5. 1. 1. 0. A Name Value Type visbilty
. = 1. e 2. 0. 0. i i Doubie local| o
iame 7. 8. 1. 0. a. x ESl Doube focal
| Documents A 25 . o. 0. o i s Dauble Tocal
B s, 0. o, o. o v 55, Doubie focal
B 21sbitioos 2 S| Douke Tocal
v
E Arduino & 1 Dauble local
Bioware
o It Sting Tocal
{55 Bluetooth Exchange Folder s s- i i - ol [t Bl Sting| ocal
{55 codemasters 11. & 2. 1 - Ihs 1] Double] local
{5 criterion Games 7. 8. 1. 0. 0. hs 1 Dauble Tocal
{5 custon Gffice Templates 25. 9. 0. 0. 0. o] imsg oS! Stin focal
B 34. o. o. o. o. 3 0 Double] local
B v - d 1 Dauble local
Srrass 3 0 Doube Tocal
Ghost Games i in ocal
S oo L b miH i ——
5 2 x ing ocal
{5 My Games 1. 8. 2 i o Ihs 1 Double] local v
{5 VP Most Wanted 7. 8. 1. 0. 0. "
NFSTR 25. 9. 0. 0. 0. CEmTE T zax
{5 Rocistar Games 3. 0. o 0. o ? 2
Bsaeb x oMy Ohzy OBy Ohey o
{5 50L Server Management Studo %
{55 Vil Studo 2005 L . . N . = L
{5 Visusl studio 2008 2
{5 visual studio 2010 L N 3
VB Games 2 u s 2 -1 e
Adass o
[ ajeva s 17 s 1 :
{7 B.dlass L
(] c.doss s 25 s 6
17 condusionscrol.docx 2
atabasee.accdh 1
s e
datebasee.mch "3
] hict. 0 o
T 4
Execution done. -
[ Case sensitive ] Reguiar expression Les . " .

Figure 5.2: NewtonFwdAndBckwd
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//Enter
//Enter
//Enter
//Enter
//Enter
//Enter
//Enter
clc
clear

ch=input (" press

the
the
the
the
the
the
the

element
element
element
element
element
element
element

1 for

and 2 for backward
if (ch==1) then
n=input ("enter the no

y=zeros (n,n)

for i=1:n

x(i)=input (" Enter the element x 7);
y(i,1)=input (" Enter the element y ”);

end

for i=2:n
for j=1:n-i+1

end
end

mprintf ("X\tY\t”)
for i=1:n-1
mprintf ("%c" %dy\t” , char (30) ,1)

end
diSp(””)

for i=1:n
mprintf ("%d\t” ,x(i))
for j=1:n-1i+1
mprintf ("%d\t” ,y(i,3))

end

diSp(””)

end
else

R K S K<

11

17

25

34

forward interpolation table
interpolation table”);

of values

77),
I

y(j,i)=y(j+1,i-1)-y(j,i-1)

n=input ("enter the no of values

y=zeros (n,n)

21
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for i=1:n
x(i)=input (" Enter the element x 7);
y(i,1)=input (" Enter the element y 7);
end
for i=2:n
for j=1:n-1i+1
y(j,i)=y(j+1,i-1)-y(j,i-1)
end
end
mprintf ("X\tY\t”)
for i=1:n-1
mprintf ("%c" %dy\t” ,char (31),1i)
end
disp(””)
for i=1:mn
mprintf ("%d\t” ,x (1))
for j=1:n-1i+1
mprintf ("%d\t” ,y(i,3))
end
disp(””)
end
end

22
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Experiment: 6

To implement Langrange’s
Interpolation formula

Scilab code Solution 6.6 Lagrange Interpolation

//Operating System — Windows 10

//SCILAB version 5.5.2

//Experiment No.6

//Objective: Lagrange’s Interpolation formula
//for example Enter the number of terms in table as
//n=2

//enter the values of x and y as

/)%= 1

/]y=1

[/x= 6

//y= 36

//Enter the value of x to calculate y as

//a=5

clc

clear

n=input (" Enter the no of terms in the table :—7)
for i=1:n

23



4 I Scilsb 5.5.2 Console - o 'S
L File gdit Control Applications ?
ZB|XA00|% &8 @ &0
Fil Erawser 2 x Variable Browser 2 x
~[ e Nam val Typ Visbilty
- Enter the no of temms in the table :-2 2 Doub p
&k 05 Doubk I
| Documents ~ || Enter value of x and v e 3 Dowble o
él - =1 = Doubie loca
2015511006
%= =20 ;%] Doubie oca
5 arduno o =3 L6 Doub oca
W 2| Doubk i
2l Doubie i
¥
-1
{5 custon Offce Templates
Srraz Enter value of x and y
BFFass
{E5 Ghost Games X
B o6
{5 My Games >
{5 VP Most Wanted
EvsTR 1 = o
{5 Rocstar Games —>35 z
Bscib Enter value of x to caleulate v5 v 4]
{5 50t server Management studo !
{5 visuat studio 2005 1
{55 visual studio 2008 o 0
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Figure 6.1: Lagrange Interpolation

18 disp(” Enter value of x and y”)
19 disp("X: 7)

20 x(i)=mscanf (7 %f")

21 disp("Y: 7)

22 y(i)=mscanf (" %f")

23 end

24 an=0;

25 a=input (" Enter value of x to calculate y”)
26 for i=1:mn

27 c=1;

28 for j=1:n

29 if (i7=j)

30 c=c*(a-x(j))/(x(i)-x(j))
31 end

32 end

33 an=an+cx*xy (i)

34 end

35 mprintf (" \n\nF (%f)=%f\n",a,an)
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Experiment: 7

To implement Numerical
Integration using Trapezoidal,
Simpson 1/3 and Simpson 3/8
rule.

Scilab code Solution 7.7 Trapezoidal Simpsons

//Operating System — Windows 10

//SCILAB version 5.5.2

//Experiment No.7

//Objective:to impliment numerical integration using
trapezoidal ,simpson 1/3 and simpson 3/8 rule

//For Example for trapezoidal press 1

//Enter the Start limit as

/ja= —1

//Enter the End limit as

//b=2

//Enter the number of Intervals as
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Figure 7.1: Trapezoidal Simpsons
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11
12
13
14
15
16
17
18
19
20
21
22
23
24
25
26
27
28
29
30
31
32

33
34
35
36
37
38
39
40
41
42
43
44
45
46
47

//n=6
//For Example for simpsons 1/3 rule
////Enter the Start limit as
[/a= —1
//Enter the End limit as
//b=2
//Enter the number of Intervals as
//n=6
//For Example for simpsons 3/8 rule
////Enter the Start limit as
//a= -1
//Enter the End limit as
//b=2
//Enter the number of Intervals as
//n=6
clc
clear
function y=f(x)
y=1/(1+x"2)
endfunction
disp (”The function is y=1/(14x"2)")

ch=input ("press 1 for Trapezoidal press 2 Simpsons

1/3 press 3 for Simpsons 3/8
if (ch==1) then
a=input (" Enter the start limit: 7)
b=input (" Enter the end limit: 7)
n=input (" Enter the no of intervals:
h=(b-a)/n
s=[a:h:b]
su=0
for i=2:length(s)-1

su=su+2x*f (s(i))

end
su=su+f(s(1))+f(s(length(s)))
ans=hx*xsu/2
disp (ans)
//Simpson’s 1/3
elseif (ch==2) then

27
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48
49
50
o1
52
53
54
55
56
o7
58
59
60
61
62
63
64
65
66
67
68
69
70
71
72
73
74
75
76
7
78
79
80
81
82
83
84
85

function y=f(x)
y=1/(1+x"2)
endfunction
a=input (" Enter the start limit: 7)
b=input (" Enter the end limit: 7)

n=input (" Enter the no of intervals:

h=(b-a)/n
s=[a:h:b]
su=0
for i=2:length(s)-1

if (modulo(i-1,2)==0)

su=su+2*f (s(i))
else
su=su+4x*xf (s(i))

end
end
su=su+f(s(1))+f(s(length(s)))
ans=h*su/3
disp(ans)
//Simpson’s 3/8
elseif (ch==3) then
function y=f(x)

y=1/(1+x"2)
endfunction
a=input (" Enter the start limit: 7)
b=input (" Enter the end limit: 7)

n=input (" Enter the no of intervals:

h=(b-a)/n
s=[a:h:b]
su=0
for i=2:length(s)-1
if (modulo(i-1,3)==0)
su=su+2*f(s(i))
else
su=su+3*f(s(i))
end
end
su=su+f(s(1))+f(s(length(s)))
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86 ans=3*hx*su/8
87 disp(ans)
88 end
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Experiment: 8

To implement Least Square
Method for curve fitting

Scilab code Solution 8.8 Curve Fitting

//Operating System — Windows 10

//SCILAB version 5.5.2

//Experiment No.8

//fitting a curve by least square method

//For example for fitting a curve enter the number
of terms as

//n=t

//Enter

//Enter

//Enter

//Enter

//Enter

//Enter

//Enter

//Enter

AR K< K< N
— O Ot O i W N =

clc
clear
n=input (" Enter no of terms : 7)
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20
21
22
23
24
25
26
27
28
29
30
31
32
33
34
35
36
37
38
39
40
41

42

for i=1:n
x(i)=input (" Enter x
y(i)=input (" Enter y

end

x0=0

y0=0

x2=0

xy=0

for i=1:n
x0=x0+x (1)
yO=y0+1logl10 (y(i))
x2=x2+x(1i) "2
Xy:xy+x(i)*10g10(y(i))

end

p=[x0:.1:x2]

q=[y0:.1:xy]

b=((xy/x0)-(y0/n))/((x2/x0)-(x0/n))

a=(xy-b*x2)/x0
A=10"a
B=b/1logl10 (exp (1))
p=[x(1):.1:x(n)]
y=A*xexp (B*p)

mprintf ("A=%f\nB=%f\nls the solution of the equation

y=Axe Bx” ,A,B)
plot(p,y)

77)
77)
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Experiment: 9

To estimate regression equation
from sampled data and
regression coefficient

Scilab code Solution 9.9 REGRESSION

//Operating System Windows 10

//SCILAB version 5.5.2

//Experiment No.9

//to estimate regression equation from sampled data
and regression coefficient

//Enter number of terms as

//n=4

//Enter
//Enter
//Enter
//Enter
//Enter
//Enter
//Enter
//Enter

Rl S

— O = s =] W W N
o

\)
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Figure 9.1: REGRESSION

n=input (" Enter no of terms

for i=1:n

x(i)=input (" Enter x
y(i)=input (" Enter y

end
x0=0
y0=0
x2=0
y2=0
xy=0
for i=1:n

x0=x0+x (1)
yO=y0+y (i)
x2=x2+x(1i) "2
y2=y2+y (i) "2
xy=xy+x (i) *y (i)

end

77)
77)
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35 bxy=(n*xy-x0*y0)/(n*xy2-y0~2)
36 byx=(n*xxy-x0%y0)/(n*x2-x072)
37 mprintf (7 bxy=%f\nbyx=%f\n",bxy,byx)
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